


LI

Wian I



J S

14 111}



D212 TN1j2



l

‘R 1N




‘1011142



A2 T1N1j



T



naa a2 NN nioon now N1 T 'on = ~
23.4 175 1 E
NN ‘Now
na a2 qnn nioon now 7T 'on = =
62.38 AR
3.3 84.9 3
40.1 59.8 81.7 14
75 3.3 74.5 15
251 NN '‘now
A a2 QNN noon now T 'on r=
60.5 4 E
9.5 86.1 5| X
11.8 80.9 6
9.5 75.9 7
24.3 N ‘NoY
n1'a aa aqnn nio9In now nT 'on r=
60.6 8| F
B 90 9 A
11.8 76.2 10
] 76.2 11
28.2 NN 'NoY
n a2 NN niosn now T 'on r=
35.5 120 12| &
36.4 11.8 124.9 13| =
18.7 NN "N

Uimol



	yavne_hoveret3-1
	yavne_hoveret3-2
	yavne_hoveret3-3
	yavne_hoveret3-4
	yavne_hoveret3-5
	yavne_hoveret3-6
	yavne_hoveret3-7
	yavne_hoveret3-8
	yavne_hoveret3-9

